(16) 3/8" X 1 1/2" LAG SCREWS
USED TO MOUNT STEPRAILS
TO TBAR ANGLE

(4) 1/2" X 3" BOLTS

(4) 3/8" NYLOCK NUTS

(4) apptbarangle

/(4) 1/2" NYLOCK NUTS

TBAR TOP ANGLE 2" x 3" x 8" ANGLE

ITEM
NO. PART NUMBER QTY.
(4) 3/8" X 2 3/4" BOLTS 1 |vertical guide base assembly 4
2 |wood bunk uprights 2x2x20 4
3 [|tbar top angle 2x3x8 4
5 |ubolt 3/8"x2 1/2'x5 1/2" 8
6 |3/8"X23/4"BOLTS 4
7 (1/2" X 3"BOLTS 4
8 |3/8"'X11/2" LAG SCREWS 16
? 3/8" NYLOCK NUTS 20
10 [1/2" NYLOCK NUTS 4
/(1 6) 3/8" NYLOCK NUTS
(8) 3/8"X21/2"X51/2"U-BOLTS
Harbor Master Itd || 1540 STEPRAIL HARDWARE CONTENTS o

3127 HIGHLAND DR. HUDSONVILLE, MI 49426 616-669-3170

PART NO. |

[ DATE: 1/09/2020




	Sheet1
	Drawing View1


